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[image: image3.png]Dinosaurs came in all
shapes and sizes. The
biggest were over 30m

long and up to 15m
gtall The smallest were
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#Some dmosaurs were P
#armour plated and had
homs crests, spikes or

: bumpg skin. Some even
Bhad simple feathers.
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Bthe dinosaurs died out.
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[image: image11.png]pterosaurs and
Bswimming ichthyosaurs

Mwere not dinosaurs,
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The birds living today
, build

lnosaurs a
are direct descendants
of the dinosaurs.

They lay eggs
and do many

nests,
Jother thlngs that

A dinosaurs did.
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